
CS 371N Lecture 4 : Multiclass

Announcements
- At due in one week

- Social impact response on Tues
, open

for 1 week
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TODI - Sentiment analysis : see slides

- Multiclass : formulation , per,
LR
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Mo Hiclass solution : like one -vs -all , but

more unified

Two ways
of setting things up

:

① Different weights per class

② Different features per
class

① Differartweights
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EI Headline classification 4=1 (health
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too many drug trials , too few patients
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Upiate SGD of negative log likelihood
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EI suppose we have a single ex
[ 1 I 0] label =L out of Y=[ I 23)

Initialize all J to T

① What are the class probs we get?

② Do one step of the update . ✗=/④ what if we keep training on this ex?( g ,, , ,,
, ,,]

-

,
= [ 43 213 0)

Ñz= f- 's -11> 0 )
I

>
= [ -43 -

' I} 0)


